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Puzzle Test for SBI Po Pre, IBPS Po Pre, LIC AAO, SBI Clerk and
IBPS Clerk Exams.

Directions (1-5): Read the following puzzle carefully and answer the questions given there of:

10 people A, B,C, D, E,P,Q, R, S, and T sit on two linear benches such that five people face south
and other five face north and they face each other too but not necessarily in same order given
above.

D sits in the middle of one of the row. B sits opposite to the one who sits in the middle of A and
C. Two people sit between A and P. B is to the immediate left of D. E, who faces S, sits at farthest
possible distance on the bench from R. A faces south. P and T face each other.

1. Who sits in front of D?

A.Q B.C CT D.QorC E. None of these
2. How many people sit between S and Q?

A. None B.1 C.2

D.3 E. They sit on different benches.

3. Number of people who sit on the right of P?

Al B.2 C.3 D. None E.4

4, Which of the following pair sit at the extreme ends of the benches?

A. QS B. SA C.RT D.TE E. RB
5. Find the odd one out among the following options?
A. AE B.CD C.PT D. SE E. BQ
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Common Explanations (1-5):
Reference:
They sit on two linear benches such that five people face south and other five face north and they face each

other too.

We start with the following table:

South
North

Reference:
D sits in the middle of one of the row.

B is to the immediate left of D

Inference:
We can directly fill this information.

We get two case since D could be either facing north or south.

Case-1 Case-2

South D|B South
North North B|D

Reference:
B sits opposite to the one who sits in the middle of A and C.

Inference:
We can directly fill this as well.

Case-1 Case-2
South DB South|A/C C/A
North A/C C/A |North B| D

Reference:
Two people sit between A and P.

A faces south.
Inference:

This settles down the doubt of where to put A. Now, A cannot sit in front of D because we need to put P and A
with a gap of two people.




Also case-1 is now eliminated because A faces south.

Case-2

South | A
North B|D

(@)
o

Reference:
E, who faces S, sits at farthest possible distance on the bench from R. P and T face each other.
Inference:

It means E and R are at extreme ends. This is possible only if they sit in north facing row. Rest information can
be directly filled.

Only person that will be left would be Q, who would sit in front of B.

Case-2

South| A{Q|C|P|S
North |R | B|D|T]|E
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1. We can directly read from the table that C sits in front of D.

Hence, option B is correct

2. From the final arrangement we see only 2 people sit between them.

Hence, option (C) is correct.

3. We see from common explanation that 3 people sit on the right of P.

Hence, option (C) is correct.

4, We see from common explanation that SA and RE sit at the extreme ends.

Hence, option (B) is correct.

5. We see that except for AE all the people face each other.

Hence, option (A) is correct.
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